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QUESTION 1

Which are two advantages of TCP multiplexing? (Choose two.)

A. it reduces the number of TCP sessions that the server

B. it allows FortiADC to balance a client TCP connection among multiple servers

C. A new client connection does not need to wait for a new FortiADC-to-server connection
D. It reduces the number of TCP sessions that clients need to establish

Correct Answer: AB

QUESTION 2

A FortiADC administrator wants to offload SSL encryption and decryption of web traffic to lessen overhead on the real
servers, while maintaining SSL encryption with the client.

Which must be true to allow FortiADC to provide this capability?

A. The real server pool must be configured for SSL

B. The virtual server must be configured to perform content routing

C. The real server certificate and private key must be installed on FortiADC
D. The virtual server must use a TCPS application profile

Correct Answer: C

QUESTION 3

Which two statements about virtual tunneling for outbound link load balancing are true? (Choose two.)
A. Link policies are used to specify which traffic is sent through each virtual tunnel.

B. Each virtual tunnel can contain no more than three IP tunnel.

C. Two dispatch algorithms are supported weighted round robin and source destination hash.

D. A virtual tunnel can combine point to point and multipoint IP tunnels.

Correct Answer: AC

QUESTION 4

An administrator has been assigned the task of protecting their company application delivery servers from OWASP top-
10 threats.
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How must they configure FortiADC to provide this capability?
A. Configure advanced health checks

B. Configure Layer 7 custom rates

C. Configure the advanced WAF

D. Configure IPv4 firewall policies

Correct Answer: C

QUESTION 5

Whichtwo settings are included in the global load balancinggeneral DNS settings? (Choose two.)
A. Recursion

B. Response rate limit

C. Management traffic

D. Default zone configurations

Correct Answer:. AB
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